Sec 4.3 Logarithms

~Expanding~
/ | Log Rules I \
Log(AB)= LogA + LogB
Log Form
| 6=4

to

Index Form

S J

Log(g) = LogA o LOgB Equivalent




Completely expand-

|034r7 —HO%TS 0910 +109 X
1 +log X



log7(19/j()l 3 In (e3/7)
One=nT

109 lq ‘Oﬂ X Ane- I [
At






\ogbx +\05\O/ 36&'
d \03b><+ \oqjy

\09(0 v
|

3"'\09;( -2 -y y
%\09@)(42#4 Dy )

3JX— log %yﬁ}

?




109 00 +l03)<5+ |

2 +2l0g+5




Suggested Practice
Sec 4.3
page 477
1-40
left column



| log T+log 3 132 I3

4 1+
lqu)( 6. Moabx

I} —log X 4. 5 Inx
|

b ogr-y T



5. 2 - Jog (x+1)

2%. 3o +|oaby . foﬂb*

51, 5 (lm x-1gy)



34 %l%bx + 4[035)/ - 5'043-?:

37 3hnx+ Hn(XH) ~4 )

3. |+ 2gx+ 503 ~byT-20y,






